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(— ) Error-correcting Code
(= ) Information Entropy
(= ) DHCP (Dynamic Host Configuration Protocol )
(2 ) RADIUS ( Remote Authentication Dia In User Service)
(7 ) MAC Address
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#include<stdio.h>
#include<math.h>
main()

{

FILE *fp;
int 1,n;
float aa, g 100],sum,ave,vax,std;
fp=fopen("in.txt","r");
n=-1;
while(fscanf(fp," %f",& aa)! =EOF)
{
n=n+1;
a[n]=ag;
}
fclose(fp);
sum=0.0;
for(i=0;i<=n;i+=1)
{
sum=sum-+g[i];
}
ave=sum/(n+1);
vax=0.0;
for(i=0;i<=n;i+=1)
{
vax=vax+(ai]-ave)* (ai]-ave);

}

std=sgrt(vax/n);
fp=fopen("out.txt","w");
fprintf(fp," ave=%f std=%f\n" ,ave,std);

fclose(fp);
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